
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

Avalon AGP Insert Parts List 

Model:  AGP Pellet Insert (Avalon)  

SKU:  99800520   -   INS, AGP PELLET BLACK*   -    

SKU:  99800521   -   INS, AGP PELLET NO SIDE PNL*   -    

Product Line:  Avalon  

Product Class:  Inserts  

Fuel:  Pellet  
 

 

  Parts List - 82 Parts Listed    

Description  SKU 

ASH PAN DOOR ASSY, AGP PI - COMPLETE  250-03260  

ASHPAN - AGP INSERT - COMPLETE ASSY  250-03365  

AUGER DRIVE COLLAR, 1997 & UP - LARGE/SMALL PEL FS/INS  91002021  

AUGER FLIGHT - AGP# - 2" PITCH  250-02599  

AUGER MOTOR, Hi-TORQUE AGP# - PELLET METER  250-02828  

AUGER MOTOR, PELLET AGP# - PUSH ACTION MOTOR  250-02598  

BLOWER, COMB, AGP # - AGP PELLET  250-02610  

BLOWER, CONVECTION# - 93-95BV,91-96PS/PI, 00 LRG PS  250-00588  

BLOWER, COOLING - AGP INSERT - SERVICE PART  250-03031  

BRKT (1), HOPPER LID - AGP PI - PELLET INSERT  250-04046  

BRKT SET, GRILL - L/R - AGP PELLET  250-02770  

BRUSH, BENT HANDLE # - COMBUSTOR/FIREBOX BROOM  250-03046  

BRUSH, BOTTLE STYLE# - LYDN/ARBOR/AGP PS  250-01090  

BURNPOT - AGP # - 12 GA SS309  250-02614  

BURNPOT HOLDER - AGP INS - INSERT ONLY  250-03725  

BURNPOT SCRAPER TOOL - AGP - 11.370 X 1.675  250-02625  

BURNPOT VISUAL DEFLCTR - AGP# - w/ HOF LOGO - ver. 2  250-02983  

BURNPOT VISUAL DEFLCTR - ver.2 - w/ PINE CONE LOGO  250-02984  

BUSHING PLATE - INNER AGP# - PUSH/FEED AUGER  250-02601  

BUSHING PLATE - LOWER AGP# - LOWER METER PLATE  250-02602  

http://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

BUSHING PLATE - OUTER AGP# - PUSH/FEED AUGER  250-02600  

BUSHING PLATE - UPPER AGP - UPPER, METER PLATE  250-02596  

CHISEL, PELLET - AGP# - AGP PELLET  250-02605  

CNTRL BOARD - AGP PI# - PELLET INSERT  250-02818  

CONTROL BRD ASS'Y, API - PANEL MOUNT ASSEMBLY  250-03561  

DOOR CAM, AVA - BRS# - 1250/1750/CAMANO - 1990-96 PEL  250-00598  

DOOR, WASHER, .390 x .630 SS# - PK OF 8 - SERVICE PART  250-00364  

DRAFT (FLOW) SWITCH # - ALL PS/PI/EXTREME  90-0791  

DRAW LATCH, DOOR/FLUE - w/ RIVETS - VARIOUS PEL/GAS  250-00392  

EXHAUST CLEANOUT PLATE - AGPI - AGP PELLET INSERT  250-03038  

EXHAUST COLLAR PLATE (API v.2) - AGP INSERT  250-03444  

FASTENER - HEX-NUT, 8-32 - PACK OF 6  250-01292  

FASTENER - NUT, HEX# - STEEL 3/8-16 -JAMB-LOCK, 5 PK  250-00966  

FASTENER - SCREW - HWSHSMS,#8 x 3/8" TYPE B- 5 PK  250-01478  

FIREBOX HEAT FLANGE, UPPER LF - AGP INSERT  250-03791  

FIREBOX LINER, BACK-AGPI - AGP PELLET INSERT  250-03035  

FIREBOX LINER, SIDE LT - AGPI - AGP PELLET INSERT  250-03037  

FIREBOX LINER, SIDE RT - AGPI - AGP PELLET INSERT  250-03036  

FIREBOX LINER, TOP - AGP - 14 GA SS - 17.750 x 6.479  250-02618  

FUEL METER SHAFT - AGP PS/PI - SERVICE PART  250-03508  

FUSE -5AMP 5-PK CNTRL BOARD - DIAGNOSTIC BOARD 2006'  250-00081  

FUSE HOLDER, w/o FUSE # - INCOMING POWER - ALL PS/PI  250-00310  

FUSE, 5AMP, 5-PK # - FUSE ASSEMBLY - 93 & UP PEL  93-0695  

GRILL ASS'Y, AGP - AGP PS/PI  250-02692  

GROMMET, BLACK RUBBER - PACK OF 5 - SERVICE PART  250-01388  

GSKT, 3/8" X 50' BLACK - BULK - 50'  250-02380  

GSKT, ASH PAN DOOR - AGP# - 5/8" dia, BLACK- 60"  250-02623  

GSKT, COMBUSTION BLOWER # - AGP PELLET - 7" DIA.  250-02609  

GSKT, EXH CLEAN OUT - AGPI - AGP PELLET INSERT  250-03039  

GSKT, EXHAUST/INTAKE - AGP INS - 1/8 RTV SILICONE - 6.563x3.695  250-03188  

GSKT, INTAKE CLEANOUT - AGP PELLET INSERT  250-03041  

http://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

HANDLE ASS'Y, ASH-DOOR - AGP PELLET INSERT  250-03042  

HANDLE ASS'Y, DOOR - CAMANO/AGP PELLET  250-02074  

HANDLE, DOOR - BLK PHENOLIC# - CAMANO/AGP PS-PI  250-02964  

HANDLE, HOPPER LID - BLACK - ALL PS & LG PS/PI 1997-00/AGP  250-00380  

HOPPER LID ASSY, AGP INSERT - SERVICE PART  250-03417  

HOPPER SWITCH ASSY, AGP INSERT - AGP INS ONLY  250-03068  

HW PACK, LEG LVL BOLT, STL # - 3/8-16 - FOUR w/RUBBER TIPS  98900418  

IGNITER - AGP PELLET# - 250 WATTS  250-02613  

INTAKE AIR, CLEANOUT PLATE - AGP PELLET INSERT  250-03040  

KNOB (PHENOLIC), 3/4" dia # - 1/4-20 THREAD - BALL SHAPED  250-00374  

LED CLIP MOUNT (5-PK) AGP INS - CONTROL BOARD LED  250-03801  

MAGNET w/SHEATH - 1.000 x .750" 1/4" THICK  250-00352  

MANUAL, AGP PELLET INSERT - 2013  250-03044  

NIPPLE, BARBED (PELLET)#  250-00379  

OUTSIDE AIR DUCT, PELLET # - 1.750" x 25.0'  99200135  

PAINT, METALLIC BLACK - 12oz. - SPRAY CAN  250-03678  

PAINT, METALLIC BLACK 3oz# - SPRAY CAN  250-00347  

RUBBER BUMPER, HOPPER LID# - PACK OF 2  250-00016  

RUBBER MOTOR STOP - 2-PK# - ALL PELLET - 1997 to PRESENT  250-00284  

SCRAPER ROD - HEAT TUBES# - YNK BAY/AST/AST BAY/AGP  250-00215  

SIDE PNL, LT, BLACK AGP PI - AGP PELLET INSERT  250-03075  

SIDE PNL, RT, BLACK AGP PI - AGP PELLET INSERT  250-03076  

SNAP-DISC - 110deg - AGP# - CERAMIC/NO - PS/PI  250-02966  

SNAP-DISC - 200deg NC # - NORMALLY CLOSED - HOPPER DISC.  250-00314  

SNAP-DISC BRACKET (NEW STYLE) - 26 GA GLV - 3.264 x 2.000  250-00471  

STOVE PACK, AGP INSERT - PELLET INSERT  250-03043  

THERMOSTAT COVER (AGP) - AGP PELLET - PS/PI  250-03236  

WIRE HRNS, ENCODER WIRE# - w/MOLEX CONCTRS - AGP PS/PI  250-03820  

WIRE HRNS, LED - AGP INS# - CNTRL BOARD LED - INS ONLY  250-03032  

WIRE HRNS, MAIN PWR - AGP PI - AGP INS ONLY  250-03111  

WIRE HRNS, PUSH AUGER AGP INS - INSERT ONLY  250-03033  
  

 

http://www.woodmanspartsplus.com/

